56 =Y AlAH> | ZE AXf HE = 2| E5 BSHP

SKS — Slimline, short, standard height & R1666 ... 2.

=
£l Vo =5 m/s
THEE! @, = 500 m/s?
(Feomp > 2.8 - F, 0% a

comb

=50 m/s?)

max

S8 Y REHS
EM| 3717} #AIE olsSE YEE S8 22 282l ¥
=24 22
= A2l ojEE = el 3=
Cco Ct N H ss LS DS ss LS
15 R1666 1 9 4 3 20 21 - 22 23
1 4 3 20 21 - 22 23
20 R1666 8 9 4 3 20 21 - 22 23
1 4 3 20 21 2z 22 23
25 R1666 2 9 4 3 20 21 - 22 23
1 4 3 20 21 2z 22 23
30 R1666 7 9 4 3 20 21 - 22 23
1 4 3 20 21 2z 22 23
35 R1666 3 9 4 3 20 21 - 22 23
1 4 3 20 21 2z 22 23
=2 R1666 7 1 3 20
FE ol S2 £ 2549
M- CO = ol SiS(SzlofA2) SS =#& U 3| A Xt
=4 C1 = 7hHe ofler LS =xoiE & = RT3 oisix| o2 HEl/AE
> =2 2| 22 SKS DS =0/ & W (REXez Z20| 2u1Z3)
» 37|30
> o S& Ct
> HEl= SEH
> HE A A = A olEE
2E Hs
R1666 713 20

Bosch Rexroth AG, R310DE 2202 (2014-08)



oy
2
B
=2
H
M

=2l EEBSHP | 2 2lY AlA” 57

A
E B
KQ B2
i “
P 7N Tit 7]
& | e I
| —=ym 1] —
! i
HQ N6 — I = ‘
= :
@Ss i
| T |
a) oys i
=71 15: @ 4 - 1.0 (mm)
37| 20-35: @ 5+ 1.0 (mm)
By LSt Y2 SBTE J(=2 258)
b) 2% UZ 37| 15-20:
Zth7| & & LIE DIN 3405-A M3x5, B, = 1.6mm
T2 28 LSS A8E B2 LI} 20| 5mmE E4-
i |8 LIE 37| 25-45:
N7 2 2% LIZ DN 71412-A, M6x8, B, = 9.5mm
T T2 2% LIZS A8E Y2 LA 20| 8mmS E4
“’ - 2 LSS Y50 ZatElo] JCKoIZA.
77777 AT 2E ol 212 71,
E
37| x| (mm)
A A A, A, B B, E Eg E, H H, H,)  H2 K, K, Ky K,
15 34 17 15 95 447 257 26 2455 670 24 1990 1630 1620 1625 1785 320 320
20 44 22 20 120 573 319 32 3250 730 30 2535 2075 2055 2295 2295 335 335
25 48 24 23 125 670 386 35 3830 1150 36 2990 2445 2425 2535 2650 550 550
30 60 30 28 160 753 450 40 4840 1460 42 3535 2855 2835 2880 3050 605 605
35 70 35 34 180 849 514 50 5800 1735 48 4040 3215 318 3270 3420 690 690
37| zl2 (mm) 2Al(kg)| HH5Z (N) 55 2HEY (Nm)
‘it —
- (]
N, N5 5, s S TV m c Cy M, Mg
15 60 103 M4 45 M25x35 60 50 0.10 6 720 7 340 65 71
20 75 132 M5 60 M3x5 60 6.0 025 15400 16500 200 210
25 90 152 M6 7.0 M3x5 60 7.5 035 19800 21200 280 300 130 140
30 120 170 M8 90 M3x5 80 7.0 060 25600 28900| 440 500 200 230
35 130 205 M8 90 M3x5 80 80 090 36600 49300 790 1060 340 460

X
2
2 ol IFE 2 2l 222 95 YIS U 55 DUE 2 A0 A 2 2 BES 5t YHsHE U 615 2lE =D12
AEm3E J|EoR $ich £5 50,000mE J|ESR 57| Bt

|m
fu

Ho O
"

Bosch Rexroth AG, R310DE 2202 (2014-08)



